Nonlinear Funct. Anal. & Appl., Vol. 11, No. 2 (2006), pp. 187-194

INVARIANCE FOR AN ABSTRACT NONLINEAR VOLTERRA INTEGRODIFFERENTIAL EQUATION

M. B. DHAKNE AND S. D. KENDRE

ABSTRACT. The aim of the present paper is to study the invariance of arbitrary closed set for nonlinear Volterra integrodifferential equation in Banach spaces with general semigroup.

1. INTRODUCTION

Let X be a Banach space with norm $\| \|$ and K a closed subset of X. The present paper is concerned with invariant sets for nonlinear Volterra integrod-ifferential equation in Banach spaces of the form

$$x'(t) = Ax(t) + \int_0^t \{a(t,s)f(s, x(s)) + g(t,s, x(s))\} ds + f_0(t), \ t \ge 0;$$
(1.1)

$$x(0) = x_0 \in X;$$
(1.2)

where A is the infinitesimal generator of a strongly continuous semigroup of bounded linear operators $S(t), t \ge 0$ in X, nonlinear functions $f: R^+ \times X \to X$, $g: R^+ \times R^+ \times X \to X, f_0: R^+ \to X$ and the kernel $a: R^+ \times R^+ \to R$ are continuous and x_0 is a given element of X.

Recently, in [4], the authors have proved that the equations (1.1) - (1.2) have a unique mild solution $x(t) = T(t)x_0, t \ge 0$ satisfying the following

Received March 15, 2005. Revised June 9, 2006.

²⁰⁰⁰ Mathematics Subject Classification: 45N05, 45J05.

Key words and phrases: Invariant set, Volterra Integrodifferential equation, semigroup, Banach space.

This research was supported by University Grants Commission of India vide No. F 8-18/2001(SR-I) dated March 11, 2001.

M. B. Dhakne and S. D. Kendre

integral equation

$$T(t)x_{0} = S(t)x_{0} + \int_{0}^{t} S(t-s) \int_{0}^{s} \{a(s,\tau)f(\tau,T(\tau)x_{0}) + g(s,\tau,T(\tau)x_{0})\}d\tau ds + \int_{0}^{t} S(t-s)f_{0}(s)ds.$$
(1.3)

The transformations T(t), $t \ge 0$ form a semigroup of nonlinear operators. In the present paper, we establish the condition under which the set K is invariant with respect to the invariance conditions of different types have been studied by many authors. The classical Nagumo condition

$$\liminf_{t\downarrow 0} \frac{1}{t} d(x + tf(x), K) = 0, \text{ for all } x \in K$$
(1.4)

is sufficient and necessary for invariance of a closed set K for the classical differential equation

$$x'(t) = f(x(t)), \ x(0) = x_0 \tag{1.5}$$

where $d(\cdot, K)$ denotes the distance function (see [1]). In [2], Brezis proved that the condition

$$\liminf_{t\downarrow 0} \frac{1}{t} d(T(t)x, K) = 0, \text{ for all } x \in K$$
(1.6)

is sufficient and necessary for the semilinear differential equations

$$x'(t) = Ax(t) + f(x(t)), \ x(0) = x_0 \tag{1.7}$$

when X is a Hilbert space, K is a closed, convex set and $T(\cdot)$ is a general nonlinear semigroup of contractions. This result is extended by Martin [6] when X is a Banach space and K is closed set. In [8] Pavel proved that if X is Banach space, K is closed subset of X, then $T(t)K \subset K$, $t \ge 0$ if and only if

$$\liminf_{t\downarrow 0} \frac{1}{t} d(S(t)x + tf(x), K) = 0 \text{ for all } x \in K$$
(1.8)

provided that the operators S(t), $t \ge 0$ are compact. The condition (1.8) is called semigroup Nagumo's condition. We observe that if K is contained in the domain D(A) of the operator A, then (1.8) becomes

$$\liminf_{t \downarrow 0} \frac{1}{t} d(x + t(Ax + f(x)), K) = 0, \text{ for all } x \in K$$
(1.9)

The paper is organized as follows. In section 2, we present the preliminaries and statements of our main results. Section 3 deals with the proofs of main theorem.

2. Preliminaries and Statement of Results

Before proceeding to the statements of our main results, we shall setforth some preliminaries and hypotheses on the functions involved in (1.1) - (1.2) that will be used throughout the paper.

Let (X, r) be a complete metric space and T(t), $t \ge 0$ a family of nonlinear operators on X satisfying:

$$T(t+s) = T(t)T(s) \text{ for } t, s \ge 0$$

$$(2.1)$$

$$\exists \omega \in R, \ M > 0, \ r(T(t)u, T(t)v) \le M e^{\omega t} r(u, v), \ t \ge 0, u, v \in X$$
(2.2)

$$\forall u \in X, \ t \to T(t)u \ is \ contonuous \ on \ [0, \infty).$$
(2.3)

We now state lemma and theorem before stating our main results.

Lemma 2.1. [11] Let $K \subset X$ be a closed set and $C \ge 0$. Assume for $\forall x \in K$

$$\liminf_{t\downarrow 0} \frac{1}{t} d(T(t)x, K) \le C.$$
(2.4)

Then $\forall x \in X, t \ge 0$

$$d(T(t)x,K) \le M e^{\omega t} d(x,K) + \frac{CM}{\omega} (e^{\omega t} - 1).$$
(2.5)

Theorem 2.2. [7] Let u, p, q and r be nonnegative continuous functions defined on R_+ , p be positive and sufficiently smooth on R_+ and $u_0 \ge 0$ be a constant. If

$$u(t) \le u_0 + \int_0^t p(s)q(s)ds + \int_0^t p(s) \int_0^s r(\tau)u(\tau)d\tau ds \text{ for } t \in R_+,$$

then

$$u(t) \le (u_0 + \int_0^t p(s)q(s)ds)exp\{\int_0^t p(s)\int_0^s r(\tau)d\tau ds\} \text{ for } t \in R_+.$$

For convenience, we list the following hypotheses used in our further discussion.

 (H_1) The function $f_0: \mathbb{R}^+ \to X$ is continuously differentiable.

 $(H_2)~$ The kernel function $a\colon R^+\times R^+\to R$ is continuous, continuously differentiable and

$$|a(t,s)| \le N,\tag{2.6}$$

for $t, s \in \mathbb{R}^+$.

(H₃) The function $f: \mathbb{R}^+ \times X \to X$ is Lipschitz continuous i.e. there exists Lipschitz constant L_1 such that

$$\|f(t, x_1) - f(t, x_2)\| \le L_1 \|x_1 - x_2\|, \qquad (2.7)$$

for $x_1, x_2 \in X$.

 (H_4) The function $g: R^+ \times R^+ \times X \to X$ is continuously differentiable and Lipschitz continuous i.e. there exists Lipschitz constant L_2 such that

$$\|g(t,s,x_1) - g(t,s,x_2)\| \le L_2 \|x_1 - x_2\|, \qquad (2.8)$$

for $x_1, x_2 \in X$.

We have established the following result.

Theorem 2.3. Let X be a Banach space and K be a closed subset of X. Suppose that the hypotheses $(H_1) - (H_4)$ hold and for some M > 0, $\omega \in R$ and for all $t \ge 0$ the estimation $||S(t)|| \le Me^{\omega t}$ is valid. If there exists a constant $C \ge 0$ such that

$$\liminf_{t\downarrow 0} \frac{1}{t} d(S(t)x + t\{\int_0^t (a(t,s)f(s,x(s)) + g(t,s,x(s)))ds + f_0(t)\}, \ K) \le C,$$
(2.9)

 $\forall x \in K, then$

$$d(T(t)x,K) \le MC\frac{e^{\omega t} - 1}{\omega}, \ \forall t \ge 0, \ \forall x \in K.$$
(2.10)

Conversely, if there exists a constant $C \ge 0$ such that

$$d(T(t)x,K) \le C \frac{e^{\omega t} - 1}{\omega}, \ \forall t \ge 0, \ \forall x \in K,$$
(2.11)

then

$$\liminf_{t\downarrow 0} \frac{1}{t} d(S(t)x + t\{\int_0^t (a(t,s)f(s,x(s)) + g(t,s,x(s)))ds + f_0(t)\}, \ K) \le C,$$
(2.12)

 $\forall x \in K.$

The next corollary is the special case for the C = 0 in Theorem 2.3.

Corollary 2.4. Suppose the hypotheses of Theorem 2.3 hold. A closed set K is invariant for equations (1.1) - (1.2) if and only if

$$\liminf_{t\downarrow 0} \frac{1}{t} d(S(t)x + t\{\int_0^t (a(t,s)f(s,x(s)) + g(t,s,x(s)))ds + f_0(t)\}, \ K) = 0,$$
(2.13)

for $\forall x \in K$ holds.

3. Proof for the Theorem 2.3

Proof for the Theorem 2.3. First, we prove that $(2.11) \Rightarrow (2.12)$. Assume that (2.11) holds. For t > 0, $x \in K$, we have

$$\begin{split} &\frac{1}{t}d(S(t)x+t\{\int_{0}^{t}(a(t,s)f(s,x(s))+g(t,s,x(s)))ds+f_{0}(t)\},\ K)\\ &\leq &\frac{1}{t}\|S(t)x+t\{\int_{0}^{t}(a(t,s)f(s,x(s))+g(t,s,x(s)))ds+f_{0}(t)\}-T(t)x\|\\ &+&\frac{1}{t}d(T(t)x,\ K)\\ &\leq &\|\int_{0}^{t}\{a(t,s)f(s,x(s))+g(t,s,x(s))\}ds\\ &-&\frac{1}{t}\int_{0}^{t}S(t-s)\int_{0}^{s}\{a(s,\tau)f(\tau,T(\tau)x)+g(s,\tau,T(\tau)x)\}d\tau ds\|\\ &+&\|f_{0}(t)-&\frac{1}{t}\int_{0}^{t}S(t-s)f_{0}(s)ds\|+&\frac{1}{t}d(T(t)x,\ K). \end{split}$$

Now, from hypotheses $(H_1) - (H_4)$, we have

$$\begin{split} &\lim_{t \to 0} \| \int_0^t (a(t,s)f(s,x(s)) + g(t,s,x(s))) ds \\ &- \frac{1}{t} \int_0^t S(t-s) \int_0^s \{a(s,\tau)f(\tau,T(\tau)x) + g(s,\tau,T(\tau)x)\} d\tau ds \| = 0, \\ &\lim_{t \to 0} \| f_0(t) - \frac{1}{t} \int_0^t S(t-s)f_0(s) ds \| = 0. \end{split}$$

Therefore, by using (2.11), we obtain

$$\lim_{t \to 0} \frac{1}{t} d(S(t)x + t \{ \int_0^t (a(t,s)f(s,x(s)) + g(t,s,x(s))) ds + f_0(t) \}, K) \\ \leq \lim_{t \to 0} C \frac{e^{\omega t} - 1}{\omega t} = C.$$

Now, we prove that $(2.9) \Rightarrow (2.10)$. Assume that (2.9) holds. It is clear that T(t), $t \ge 0$ satisfies (2.1) and (2.3). We show that (2.2) also holds. For $t \ge 0$, $x, y \in X$, we obtain from (H_3) and (H_4)

$$\begin{aligned} &d(T(t)x, T(t)y) \\ &= \|T(t)x - T(t)y\| \\ &\leq \|S(t)(x-y)\| + \|\int_0^t S(t-s)\int_0^s \{a(s,\tau) \left[f(\tau, T(\tau)x) - f(\tau, T(\tau)y)\right] \\ &+ \left[g(s,\tau, T(\tau)x) - g(s,\tau, T(\tau)y)\right] \} d\tau ds\| \\ &\leq M e^{\omega t} \|(x-y)\| + M e^{\omega t} [NL_1 + L_2] \int_0^t e^{-\omega s} \int_0^s \|T(\tau)x - T(\tau)y\| d\tau ds. \end{aligned}$$

$$||T(t)x - T(t)y|| \le M e^{\omega t} ||(x - y)|| + M e^{\omega t} [NL_1 + L_2] \int_0^t e^{-\omega s} \int_0^s ||T(\tau)x - T(\tau)y|| d\tau ds.$$

Putting $u(t) = ||T(t)x - T(t)y||e^{-\omega t}$, we have

$$u(t) \le M \|x - y\| + M [NL_1 + L_2] \int_0^t e^{-\omega s} \int_0^s e^{\omega \tau} u(\tau) d\tau ds.$$
 (3.1)

Applying Theorem 2.2 to equation (3.1), we get

$$u(t) \le M \|x - y\| \exp\{\int_0^t M [NL_1 + L_2] e^{-\omega s} \frac{[e^{\omega s} - 1]}{\omega} ds\} \\ \le M \|x - y\| \exp\{\frac{M [NL_1 + L_2]t}{\omega}\},$$

and therefore,

$$||T(t)x - T(t)y|| \le Me^{\lambda t} ||x - y||$$

where

$$\lambda = \{\omega + \frac{M[NL_1 + L_2]}{\omega}\}.$$

This yields

$$d(T(t)x, T(t)y) \le Me^{\lambda t}d(x, y).$$

Hence (2.2) holds for T(t) with ωt is replaced by λt . We observe that semigroup T(.) satisfies (2.4). Now,

$$\begin{split} &\frac{1}{t}d(T(t)x,K) \\ &\leq \frac{1}{t}\|T(t)x - S(t)x - t\{\int_0^t (a(t,s)f(s,x(s)) + g(t,s,x(s)))ds + f_0(t)\}\| \\ &+ \frac{1}{t}d(S(t)x + t\{\int_0^t (a(t,s)f(s,x(s)) + g(t,s,x(s)))ds + f_0(t)\}, K) \\ &\leq \|\frac{1}{t}\int_0^t S(t-s)\int_0^s \{a(s,\tau)f(\tau,T(\tau)x) + g(s,\tau,T(\tau)x)\}d\tau ds \\ &- \{\int_0^t (a(t,s)f(s,x(s)) + g(t,s,x(s)))ds\}\| \\ &+ \|\frac{1}{t}\int_0^t S(t-s)f_0(s)ds - f_0(t)\| \\ &+ \frac{1}{t}d(S(t)x + t\{\int_0^t (a(t,s)f(s,x(s)) + g(t,s,x(s)))ds + f_0(t)\}, K). \end{split}$$

Taking limit as $t \to 0$ and using hypotheses $(H_1) - (H_4)$ and (2.9), we get

$$\lim_{t \to 0} \frac{1}{t} d(T(t)x, K) \le C.$$

Hence, by Lemma, we have for $\forall x \in K, t \ge 0$

$$d(T(t)x,K) \le MC \frac{e^{\omega t} - 1}{\omega}.$$

This proves the Theorem 2.3.

References

- 1. J. P. Aubin, Viability Theory, Birkhauser, 1992.
- 2. H. Brezis, Operateurs Maximaux Monotones, North Holand, Amsterdam, 1973.
- Brezis H.and Browder, A general principle on ordered sets in nonlinear functional analysis, Adv. Math. 21 (1976), 355-364.
- 4. M. B. Dhakne and S. D. Kendre, On nonlinear Volterra integrodifferential equation in Banach spaces, Communicated for publication.
- 5. G. E. Ladas and V. Lakshmikantham, *Differential equations in abstract space*, Academic press, 1972.

- R. H. Martin, Proc. Int. Conf. on Differential Equations, ed: H. Antosiewicz (1975), Academic press, New York.
- B. G. Pachpatte, Inequalities for Differential and Integral Equations, Academic Press, 1998.
- 8. N. H. Pavel, Differential Equations, Flow Invariance, Pitman, New York, 1984.
- 9. A. Pazy, Semigroup of linear operators and applications to partial differential equations, Springer Verlag, New York, 1983.
- S. Shuzhong, Viability theorems for a class of differential operator inclusions, J. Diff. Equat. 79 (1989), 232-257.
- 11. Wojciech Jachimiak, A Note on Invariance for Semilinear Differential Equations, Bulletin of Polish Academy of Sciences Mathematics . 45(2) (1997), 181-185.

M. B. DHAKNE DEPARTMENT OF MATHEMATICS DR.BABASAHEB AMBEDKAR MARATHWADA UNIVERSITY AURANGABAD-431004, INDIA *E-mail address*: mbdhakne@yahoo.com

S. D. KENDRE DEPARTMENT OF MATHEMATICS UNIVERSITY OF PUNE, PUNE-411007, INDIA *E-mail address*: subhashkendre@rediffmail.com